5. A and B takes turns in throwing two dice and the

person who throws 9 first is to be awarded a prize.
Show that if A has the first turn, their chances of
winning the prize in the Ratio 9 : 8.

A T B 9-9{ ¥ T UH wHd © fEd 9 wed
Thehd O ! WERR e W ¥ wef¥m wifsw fw
Ifc A Hl 9YH AW I S @ 3EE FU RN
ST i IIfaeRaT 1 STAE 9 ;8 Tl

. Construct a grammar for the following language :
L={adb |ij=>1,i#}}

=1 9 & foTw SO T A HIG
L={db |ij=>1,i#}}

. Show that no Boolean algebra can have exactly
three elements.

firm T fF T et soTaet § T9ed d e
T B "R T

. Show that the number of vertices of odd degree
in a graph is always even.

foag wifvY % @ 7w | foom wife & oSt &t 5@
T TH T P B T

. Show that every tree has either one or two centres.

fag FIfSY f 98F g9 & TF Ul T = T T
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 4x1.75=7
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 1.75 marks.
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1. (1) Define Binary relation.

oyt Ty 1 qRwifoa St |
(ii)) Write De Morgan Laws.
2 7 & fem fafew
(ii1) Define order of an element in a group.
g & foreft stama =1 wife w1 aRfia wifsa)
(iv) Write principle of inclusion and exclusion.
STTIYE A SIS w1 fagra fafe |
(v) Define regular language.
frafaa wren =1 gRwifa sifsT
(vi) Define disjunctive normal form.
oSt g9 9 w1 aRwfea it
(vii) Define generating function.
Sk Hed Sl qRYIfa ifST

(viii) Define complete graph.
qof Ik T AR i
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Section-B 4x10=40
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.
gus—d
(g I T99)

et .- gl 9 ) godl & S ST 9 AT IS &

srfererae 200 vrgi H OfEifqa wifsw) g 999
10 31! AT B

2. Prove that dual of a lattices is also a lattice.

fag FIfNT fF e 1 5@ off e & 2 )

3. Relation R is defined on set of natural numbers N

such that :
R=1{(@ b) | a+ 3b=13}
Then find RL,

gy R UTPd wemsli & 9qe=a N W f=anr
gftafoa ®

R={(gb) | a+3b=13}
9 gy Rl 9@ i)

. Prove that (Z,, +5, X,) is an integral domain.

fag wifST & (Z,, +,, X;) TF e 9=
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